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BlfEO—R |[£EHUR)—H5T HPHI—X EASTOA—RX(FEIE) ~ 5750Yards-Par72
1HEHI5HE |1334
JIIE 432 K4 FEHIZI—X ouT IN GROSS
1 #AR  FEah AEES R () 36 37 73
2T 1tim HB TEE (%) 36 38 74
2T EH EX GMG/\EF 37 37 74
4T B #BE FELAHOY 38 37 75
4T EiiE B FELHIY 37 38 75
6T T Fx TEE (%) 39 37 76
6T AH EX N—E=—EJLAR 39 37 76
8T BEAR =/ BEHAY-M 38 39 77
8T ® =B TEE (%) 40 37 77
8T ¥ B T£E 39 38 77
8T BlE # N—E-—ELR 40 37 77
8T BEEE FAPUER N—E_—EIR 37 40 77
8T AR JE— FELAH#DY 40 37 77
14T HHEF Bl BEHAY-M 39 39 78
14T Bk = REXY-M 40 38 78
14T FiE B N—E_—ENR 37 41 78
14T K#H F* GMG/\EF 41 37 78
14T O E= TEE (%) 37 41 78
14T RHF @B =X - 1L 39 39 78
14T K3 FERR FELEHIY 40 38 78
14T FEE B TEE () 40 38 78
22T KA FE TEE 42 37 79
22T Fly F2Z AEEFS IR () 37 42 79
22T mlll & TEE (%) 39 40 79
22T ¥ LK NE-—EIR 40 39 79
22T BRIl EE TEE (%) 38 41 79
22T AH B N—EZ—EIR 38 41 79
22T =1IEES TEE (%) 39 40 79
22T JEY) ZEER T£E 39 40 79
22T %78 5L FEELEHIY 40 39 79
22T BEE FBH FEELEHIY 41 38 79
22T WHE B NEZ-EIR 40 39 79
33T #i A B TEE (%) 38 42 80
33T e = FEELEHIY 38 42 80
33T F BE GMG/\EF 39 41 80
33T BH 1T =13 732 42 38 80
33T Ay = TEE (%) 37 43 80
33T Bl XEX TEE 41 39 80
33T 2E BEX TEfE 40 40 80
33T B 2 TEE (%) 43 37 80
33T RS Fik FELHOY 38 42 80
33T CTEES GMG/\EF 39 41 80
33T BTH JT— FEELEHOY 40 40 80
44T B #1T NEZ—-EIR 41 40 81
44T INEFSE FIA =+ 732 40 41 81
44T FH B T£E (%) 36 45 81
44T Hit IEA T£E (%) 44 37 81
44T O X N—EZ—LIR 41 40 81
44T JEZA ER GMG/\EF 42 39 81
44T ] BYE NEZ—-EIR 40 41 81
44T SH EX TEE (%) 39 42 81
44T E NEZ-EIR 40 41 81
44T HH BB T£E 39 42 81
44T A 15 T£E 37 44 81
44T FHI XX FEELHOY 40 41 81
44T e —if TEE (%) 41 40 81
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44T A =+ LdH 39 42 81
44T HE 7%Aig FELA#IY 40 41 81
59T EE X HEHAY-I 40 42 82
59T Kii EHA N—EZ—EJR 43 39 82
59T BEE HZ 5 TEE (%) 41 41 82
59T 4R EERE GMG/\EF 43 39 82
59T NI T8 FELAH#IY 40 42 82
59T BER B TEE (%) 37 45 82
59T ER BX FELAHOY 43 39 82
59T =l X538 TEE (%) 37 45 82
59T 2@ Ef T£E 42 40 82
59T EH E2 T£E 42 40 82
69T BH BEXRX BEHAY-M 42 41 83
69T Wi B8 N—EZ—EJLR 42 41 83
69T i 2 ) FELAH#DY 42 41 83
69T = = TfE 42 41 83
69T HE #1T KHIYT T 42 41 83
69T WHE #h N—E-—ELR 39 44 83
69T 2R =8 KHIYT T 43 40 83
69T RO #7HR N—E-—ENR 42 41 83
69T 1 H %Eafr\ FEEHOY 40 43 83
69T #iE Ba FEELEHIY 43 40 83
69T TE FH TEE (%) 44 39 83
69T e *%% N—EZ—EIR 40 43 83
69T FH RE =+ -1 43 40 83
69T ] BERAER =1 1L 41 42 83
83T A% HAX GMG/\EF 45 39 84
83T kiE B KHIYT T 43 41 84
83T =it RE IN-HES) 42 42 84
83T ARE FreE TEE (%) 4 43 84
83T i 2B TEE (58) 41 43 84
83T Fig F— TEE () 42 42 84
83T okt BERL TEE 41 43 84
83T B % FELAHOY 43 41 84
ANT =8 B KHIYT NI 42 43 85
9T BH A KHIYT NI 41 44 85
91T fke FO3xE TEE (%) 42 43 85
AiT A &R NE=—EIR 44 41 85
95T R ME ARZEEFH IR (%) 41 45 86
95T k& & =X 1A 43 43 86
95T nx & TEE(R) 42 44 86
95T Ml Ei =X 1L 45 41 86
95T FH ER TEE 42 44 86
95T HE E TEE (%) 43 43 86
101T KAR & KHIYT NI 44 43 87
101T hE H— FEELEHOY 43 44 87
101T RE FEELEHOY 46 41 87
101T B #E FELHOY 47 40 87
101T AHEE =5 T£E 45 42 87
101T k% Bx KHIYT NI 44 43 87
101T XiZE FA KHIYT NI 45 42 87
101T B FH N—EZ—EIR 44 43 87
109T INEF SEE AEFS R () 43 45 88
109T WA EA FELAHOY 42 46 88
109T 2% 1 KHIYT NI 41 47 88
109T Hf kX =+ 1l 43 45 88
109T e = TEfE 46 42 88
109T AT BXa] TEE (%) 42 46 88
109T =ik BA GMG/\EF 39 49 88
116T EE A T£E 42 47 89
116T HE TE FEELHOY 42 47 89
116T IR FIX TEE (%) 43 46 89
119T AR sh2 TEE (%) 48 42 90
119T ARE Fla GMG/\EF 45 45 90
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119T BE BE FELAH#IY 45 45 90
119T BEEX = FEEHOY 46 44 90
123T FRE IE KHIYTIT 45 46 91
123T =2E B TEE (%) 41 50 91
123T E# AE £HIYT NI 45 46 91
126T e EALES TEE (%) 46 46 92
126T T &X GMG/\EF 45 47 92
126T fRE = FELA#IY 48 44 92
129T BRI ANE TEE () 44 49 93
129T B E— TEE (%) 47 46 93
129T ik B— GMG/\EF 46 47 93
132 Bl f#— £HIYT NI 48 46 94
133 Z1 #& FELH#DY 46 49 95
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